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') Tetrohedon : V=4 , E=6, F=y
COube: V=&, E=12, F= 6
QOctahedren: V=6, E=)3, F=28

Dodecahedront V= 20, E=30, F=12
ICOsahco’mn; V=212, E=30, Fro2eo
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Bose cose:r =0, which meonrs e _;-fm,ofj hoave o Verder,

and o Poce, therefork V=), e=0, R0 — VT ETE =7

Assome v-e+f=] P~ Seme qreph coth N eoqes . Ther

Cither  ¢he qreph s a4 gree o~ Noé

0 its a tree, then ofter removin q lose. o edge,

an  edge , e

ond o verfex bvE keef the ftogel oumbes of focee 20 O
Hence pl=g=o0 , e'= e-1, V'= v-1, therefore
V! el v §! = CV’|)-Ce"> +f = v-e+P =1 by Che tnole e
hew graph

P the new qroph B met o Lref and e remove On edge fp A

C‘joi'eJ then \/’:\/ '-e-1(, -F’: e—] Zhen
Sloefl = v=Ce-Iy v (£ = y—e+f=4d Yy the I-H-

Hence the  equebron v-etfs=1 b trve for~ ony  ploner
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3) Assume o Ploéonic solid  hes V' verteres B edges ., ond
F ?O'OCS, G ed3e5 meeéff_;? @vcg vertex , ond b tdgc’s oreuvnd
evey  foce.

Recouse wer eveny vertex hes  Ehe some  pumper of edge <
meeting it , if we moltply oV, then (e Qet the (totel

numbes  of  edaes  Counding  thE ODumber  of eoqes of eoch
Vertex o ol Verfc xes. Since e€och @0’36 C’O”’"‘ﬂ_q ovt of o

Verbex.  mees onother verdesn , M double counted. Hemce alV
2

rﬁpmeng}- the (toéel numbe of  aEBemes 90’36_6 E . There fore
al — V= _G.LE.
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Sl?r?flon'lj Q: rf.f)rexen'bs the botel pumbe of e‘-‘fges £ sinece
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tobol ~ ol] foces,
& he " number  OF edees sround eoch foce

Fceor foces we  Jovble covnted,

ond sipee we eoch edqe  Jofs two . =

@ edges L - fermpse Then
bE the tobel numbes o

there o 2= rcprcsenéx

bE_g » F=3E .
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= aE V-E+F= 3B _E 5 2 _

3D Le know V= aLa-—— s F —-—h-' then = T 1

bAE _abE , 2ak - AbE-abE +36®  _ E(C2b -ab13a> -4
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Then E=_2b
2b-oab+aa
= 2,
/,“(> T@tmhe&[_cr.’ [a'bj=[3131 V= Cube [alb] [-_ HJ
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Ealbj: [ Y, zj DOO’CCQ}')QOL‘D" Earb] = [}JS_J
F-12x¢ 2 6 =15 +10

LVvi€ 1= [¢13.47 [v,e.F]=[¢ 13,87

lCasahedran La. b] = [S‘,Bj

E = 3¢9
lowis+ 6

Cv,E,F] =[1R.30,207]

= 30

q) A soccer ball  has |3 pentogons  apd Ao hefOSmOS hence

2z not oll Faces hove the Seme humbe  of edgers

arvond [, theefore ConnoE be Q pPletonic  sol;y

On «a soccer~  holl /= E=qo, F=-32 hevice
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V-E+F = 66 -96 +32 » A2-90 = R



